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2 e 5E 5,585, 137 6,959,824 A 1,374,687
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= 425,200
£ 188, 142
= 889,640
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NAPME LS (MY - ZAI|Y/MATE - DEFH) 3,236,237 4,748,770 A 1,512,533
= 425,200
= 378,840
Al 2,432,197
TH 24 Al 22 0H & 1,364,880 3,488,100 ~2,123,220
= 400,000
= 120,000
Al 844,880
THEAFBINH 41,700 82,700 A41,000
201 ere gl 21,700 12,700 9,000
01 At222/H| 1,500 1,500 0
OZEANT ABE 2UE SI8 2ATIII2
1,500,0008 * 13| 1,500
02 222 20,200 11,200 9,000
OBEANY MIIE 20,200
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01 A& 20,000 20,000 0
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Z=XHEHS) 20,000,0008 * 14! 20,000
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201 Lete gl 10,680 3,400 7,280
02 22| 10,680 3,400 7,280
OZ) SYAE 34 223 1,680
—®I| 23 70,0008 * 12 840
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ORS2ZHANY 232 ZZ23 9,000
—®II23 500,0002! * 122 6,000
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O=3AE &gl =HIEHISA
50,000,000& * 14 50,000
O&BIZEEAE BIEEBIAIY OFHRel
1,000,000& * 100m 100,000
402 SI2H 201 85,500 40,000 45,500
01 It EEX 70,500 40,000 30,500
O SAE JHAAE JHE 70,0008 * 15000 & 10,500
OAMAZL S AHAEHA
10,000,000& = 1JHA 10,000
O=IHOINE ST HIJHEAIE &X
30,000,000& * 1JH= 30,000
OBSAE A0I32 0|2EANE U DT
I &X 20,000,000& * 14 20,000
02 CIZ2+CHEM AL I 15,000 0 15,000
OzliE= TAIJtA X1 15,000,000& * 14l 15,000
THeH Al R 52 & SHAS(Z) 400,000 400,000 0
& 120,000
Al 280,000
401 AIEHIZ 2 300,000 400,000 A100,000
= 90,000
Al 210,000
01 Al&H| 300,000 396,000 A 96,000
OHSAE SHMEAMY
100,000,000& * 3944 300,000
& 90,000
Al 210,000
402 It X201 100,000 0 100,000
= 30,000
Al 70,000
01 BIZPGEEXR 100,000 0 100,000
OBIISZOUMAE T4 &7
100,000,000& * 14 100,000
= 30,000
Al 70,000
Io2ZE HEANE RH(2) 667,000 2,184,000 A 1,517,000
& 400,000
Al 267,000
401 Al &HI L2048 667,000 2,184,000 A 1,517,000
= 400,000
Al 267,000
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& 400,000
Al 267,000
MehHAE 2 XNSEFI&-st 13,360 10,560 2,800
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Sl AR BN (S92
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SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
OAHIRIAEA 29 X2
10,000,0008 * 14! 10,000
SIHAYDHAAXB(E) 20,000 0 20,000
= 6,000
Al 14,000
301 YerBAZ 20,000 0 20,000
= 6,000
Al 14,000
12 JIEt2 A 20,000 0 20,000
OSJtoty 2eeis X
250,0008 * 80JH &} & 20,000
= 6,000
Al 14,000
lgss 2 X 1,730,425 1,182,750 547,675
3 25,200
= 242,840
Al 1,462,385
EA1Y SEXH 919,225 831,226 87,999
201 Yer2o| 14,600 14,600 0
01 AtR2elt] 14,600 14,600 0
ORLSZAIILA AT HIZ 200,008 * 5H 1,000
OR4+EAIIY HEER L JH0IES M
5,00020 * 2,00004 10,000
ONYSHES 28 2 BIRA AR (H7P2
3t) 300,002 * 122 3,600
306 E0i2 41,625 30,813 10,812
01 2013 41,625 30,813 10,812
OPNSTHNEREERS 88 JISMMELRY
2 41,625,0008 * 18l 41,625
307 2120/ H 785,000 710,000 75,000
02 QIAAMBE 85,000 110,000 25,000
OJIYHZ SENAMEH 2% X2
30,000,0002! * 13l 30,000
OFABKHE 2YH| X
30,000,000 * 1OHCHSE 30,000
OJlg XES YR ALY 2T
5,000,0008 * 18l 15,000
O8RNY JIS0Ie(NX)YSDSE X2
10,000,002 * 13| 10,000
08 OIREHZ 700,000 600,000 100,000
OEAJIY 22 OINBHE XS 700,000
—2010 BHEIIIE  7,200,000,0008 * 5% 360,000
—2011 ABIDIE  6,800,000,0008 * 5% 340,000
308 KHXISHH SO & 63,000 60,813 2,187
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05 RXISHALE 63,000 60,813 2,187
OZY U ZHAVSHAY T4 223
63,000,008 * 14! 63,000
402 RIAX 201 15,000 15,000 0
01 pIAXE=EE 15,000 15,000 0
OFA019 MU X &
15,000,0008 * 14! 15,000
SSIEEYL 232,800 220,300 12,500
201 Yer2g| 35,000 35,000 0
01 At 2ty 35,000 35,000 0
OZJlei2t 2 BIa 1,002 * 10,0000 10,000
ONYSHE AYQS 21 ASE
25,000,008 * 14! 25,000
301 LPBAI 2,800 2,800 0
10 BAAEI 242 2,800 2,800 0
OZJI02 SLSHAl BOHRAL BOIX O] &
A 70,0008 * 4% * 22 * 53] 2,800
307 Q20| 190,000 177,500 12,500
04 DIZISAS 190,000 70,000 20,000
OZJIQAAME SSSHBAN N (HSAl X
) 20,000,000 * 23l 40,000
OZgA 2XEREE %23
120,000,008 * 13l 120,000
OFZNAYM ZDH HE
30,000,0002! * 13l 30,000
402 QIR 201 5,000 5,000 0
01 pIAXEEE 5,000 5,000 0
Ol TR ME X &
5,000,000% * 14! 5,000
At 50,000 50,000 0
402 212X 20 H 50,000 50,000 0
01 pIAXE=EE 50,000 50,000 0
OXNHHD MEAY HDHESAL
50,000,008 * 14! 50,000
ZAIIAER(F) 92,400 18,224 74,176
= 39,600
Al 52,800
307 Q20| 92,400 18,204 74,176
= 39,600
Al 52,800
02 PIANBAEE 92,400 18,224 74,176
OZAJIUQAEARH 4,200,0002! * 22 92,400
= 39,600
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| A 52,800
NYIIAELERLSES XA () 36,000 0 36,000
=l 25,200
= 3,240
Al 7,560
307 BI2HOI 36,000 0 36,000
= 25,200
= 3,240
Al 7,560
VEIERNES 36,000 0 36,000
ONYIILEL ENEES X
6,000,000% * 67§ 36,000
=l 25,200
= 3,240
Al 7,560
RS MABAIL AL (F) 400,000 0 400,000
= 200,000
Al 200,000
402 QIR 20IH 400,000 0 400,000
= 200,000
Al 200,000
IEEES 400,000 0 400,000
OXIM HEHAID HY
400,000,008 * 14} 400,000
= 200,000
Al 200,000
22X =XSX 67,400 26,400 41,000
= 10,000
Al 57,400
225 =Xz e 33,000 0 33,000
401 AIEHIL2CH] 22,000 0 22,000
01 Al 22,000 0 22,000
O22REXEZ A2 YLTA(15,35)
10,000,009 * 14} 0,000
OZ2X=XEZ SBAL DA
12,000,0002 * 14} 2,000
405 THAHFSH] 11,000 0 1,000
01 MMUSEH S| 1,000 0 1,000
O22N=XSZ soa SX L ANTY 11,000
—SR 200,0002 * 2574 5,000
—o % 50,0002 * 12074 6,000
CEXE 22 6,400 6,400 0
201 Yer2 Yyl 1,400 1,400 0
01 AR eIt 1,400 1,400 0
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SN EB -GS - MBAY - BES 0 & 24 il ot o HZ2
O=AMEE23 2o a4+
70,0003 * 109 = 23l 1,400
307 GI12t0l & 5,000 5,000 0
02 BIZtANE X 5,000 5,000 0
Oksags 28X 5,000,000& = 13l 5,000
X0t U X2 (%) 28,000 20,000 8,000
& 10,000
Al 18,000
307 QI2t0IA 28,000 20,000 8,000
< 10,000
Al 18,000
04 DIZHHALE X 28,000 20,000 8,000
o2z stotsHJIta K&
28,000,000& = 13l 28,000
= 10,000
Al 18,000
2222 L HHAF(MI=ER/S) 2,022,288 1,884,855 137,433
=2 457,424
= 188, 142
& 410,800
Al 965,922
3322 & HYHE 2,022,288 1,884,855 137,433
= 457,424
= 188,142
= 410,800
Al 965,922
Fe o AYerd K& 4,200 1,200 3,000
201 YEH2HH| 4,200 1,200 3,000
01 AtR22/Hl 1,200 1,200 0
OHYFLME SHOIX ST 24
100,000& = 122 1,200
03 #HAH2SHI 3,000 0 3,000
o=l - & gtgo Z| 3,000
—E92 B0 S (22) Y7
1,500,000& = 22l 3,000
S3ZZME(E) 627,410 285,467 341,943
= 188, 142
& 131,400
Al 307,868
101 el 4] 620,000 277,200 342,800
2 188, 142
< 131,400
Al 300,458
04 JIZHMIZ2XNSE =+ 620,000 277,200 342,800
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OZZ22AY HOIX YS(2H)
2,500,000% * 248% 620,000
= 188, 142
= 131,400
Al 300,458
201 Yer2 Yyl 4,500 4,500 0
01 Attt 4,500 4,500 0
OZZ2ZAY =X 2H|(2)
4,500,000% * 14! 4,500
206 W& 2,910 3,767 ~857
01 HEH| 2,910 3,767 A857
OZZ22AY M2UI(2)
2,910,0008 * 141 2,910
SORIXS AR HYER(2) 8,750 7,602 1,058
= 7,000
Al 1,750
01 LB A 8,750 7,692 1,088
= 7,000
Al 1,750
NIEEE P 8,750 7,602 1,088
O=0{2 XAMSR HY=3
2,187,5008 * 4% 8,750
= 7,000
Al 1,750
NAZSH LX2IAL () 996, 424 0 996,424
= 348,748
= 194,303
Al 453,373
101 124l 597,854 0 597,854
= 348,748
= 194,303
Al 54,803
04 JIZHZ2RS24 597,854 0 597,854
OXNABEMAK HOIT A2
3,000,0002 * 169% 507,000
=2 348,748
= 158,252
ONHBSHUE HOIT L& It
90,854,0002! * 14! 90,854
= 36,051
Al 54,803
201 Yer2 YY) 34,770 0 34,770
01 A2l 34,770 0 34,770
ONHBEHLNANLY ELNE S
4,770,000 * 1Al 4,770
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SA - M. SR(F) - MPAY - BAS Off &k Gl o bRz
ONABSHANIANY BHAXIR S
30,000,008 * 14} 30,000
206 W& 203,800 0 203,800
01 T2l 203,800 0 203,800
OXNABSHLR2IAY HERY
203,800,0002 * 14 203,800
01 YLrBA2 840 0 840
10 BAAHIRAS 840 0 840
OXNABSHAK2IAY HIS FIIX0H 2
& 70,0002 * 29§ * 22!  33] 840
401 AIEHIL2OH] 159, 160 0 159, 160
01 Al 159, 160 0 159, 160
OXNEBSH AX2AAY A&H L 2HZH|
159,160,000 * 14! 159, 160
ABIEIIZS ALIHZH TRAIR () 60,000 0 60,000
2 48,000
= 3,600
Al 8,400
307 BI2HOI 60,000 0 60,000
2 48,000
= 3,600
Al 8,400
02 SItYABE 60,000 0 60,000
OABIEIIAS ALl K&
30,000,0008 * 24 60,000
2 48,000
= 3,600
Al 8,400
MBIEIISS AXRIBBAL () 112,504 0 112,504
2 53,676
= 17,497
Al 41,331
307 BI2HOI 112,504 0 112,504
2 53,676
= 17,497
Al 41,331
02 SIHYABE 112,504 0 112,504
OMSIEIIYS LT2AFE AL
56,252,0008 * 24 112,504
2 53,676
= 17,497
Al 41,331
HEAAMNYFE () 60,000 0 60,000
= 18,000
Al 42,000
307 eI2H0I 60,000 0 60,000




SA: ZHBLS
FH: 2322 L HHAH(MI=EX/S)
el zzae ¥ Ny crol e
SN -ZH A (ZH) - MFAY - BES A} OH MEE =
= 8,000
Al 42,000
02 2ItAASE X 60,000 60,000
OFEEHA 60,000,000& * 14 60,000
= 18,000
Al 42,000
MALKN2HH 2SXNJA (= 133,000 133,000
& 40,000
Al 93,000
307 gI2told 133,000 133,000
& 40,000
Al 93,000
02 ItAASE X 133,000 133,000
OMASL XA 22X
133,000,000& * 14 133,000
& 40,000
Al 93,000
NAAATAH = 20,000 20,000
& 6,000
Al 14,000
301 L2 A3 20,000 20,000
= 6,000
Al 14,000
01 AlRIEEE 2562 20,000 20,000
OXNEAHX 1,250,000& » 169 20,000
& 6,000
Al 14,000
OIX =2 oHE (&t 2I1S/HE XL X200 24,999 A87,459
b Xetd 2 B3 24,999 A87,459
Ol Rl otM 22| 4,999 A2,625
201 Yoy 3,680 0
01 AFR 22l 3,680 0
OJtAorE 2te] 1,600
—E8dH 50& = 20,0000H 1,000
—=E2AEHA 300& = 2,0000H 600
OWHR & 2002 = 5,0000H 1,000
ORMASHS ZJ| #¢
544 & * 48 + 53| 1,080
301 et24a = 1,319 0
12 JIEtE 43 1,319 0
OFds S EHIM A B4 1,319
—3gR 1,600& * 428 » 54044 * 23] 692
-3 = 1,4503 * 428 » 54044 * 23] 627
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_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
MEIDFR B 2 OH Xl 20,000 30,000 A 10,000
402 It E01M 20,000 30,000 210,000
01 It E2LEXL 20,000 30,000 A 10,000
ONBIDJIs HEtE2d JHHALE XI&
200,000& = 1002+ 20,000
NEMHEHX FX L 2SS (FELTAML /A 206,405 120,565 85,840
= 100,000
Al 106,405
A EX 2l 206,405 120,565 85,840
= 100,000
Al 106,405
A EXIAIZ E Y| 6,405 20,565 A 14,160
101 el 24| 4,725 4,725 0
04 JIZHMIZE2XESE = 4,725 4,725 0
Ogetatd el ot=+ & JtZ2= HHl
35,000&  15& = 3% * 32/ 4,725
201 YEH2HH| 1,680 8,840 AT,160
01 AtR 22/t 1,680 8,840 AT,160
Ogeratgd eIl 24 SFdHdEEAE 3 AEH
=g 70,0008 * 8" = 33 1,680
UBHAA T BBAESFHI(E) 200,000 100,000 100,000
S 100,000
Al 100,000
401 AEHIZ 208 200,000 100,000 100,000
< 100,000
Al 100,000
01 Al&H| 199,500 99,484 100,016
O FLBMAHI] UE=F HMS A
202,162,162& = 3.7km * 26.671% 199,500
S 100,000
Al 99,500
03 A2 204HI 500 516 A 16
O FLRMAHI] UE=EF HMSA
202,162,162& = 3.7km * 26.74% » 0.2499% 500
BHS AR (FHESSHE)OIEH/IIE) 95,208 93,176 2,032
Jl=2&H| 95,208 93,176 2,032
Jl=&Hl 95,208 93,176 2,032
201 LetEdl 20,328 18,296 2,032
01 AtR2teld] 20,328 18,296 2,032
O=sAE X 7| 13,0008 * 18=FA » 123 2,808
OEZ20iAlHI 5,000& = 64 » 188 » 122 6,480
Ogtte=rx 100,000& = 123 1,200
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OARZE AT 50,0008 * 128 600
OES=1=PITL] 8,160
—=AI%e 1,000,0002 * 1CH 1,000
—ZRIE 22 100,0002 * 4CH * 50/100 200
—ZAIIEYH 200,0002! * 53| * 104 1,000
—DREHEY 200,0002! * 53l * 4CH 4,000
—Z2tERIE €L 200,000 * 53 = 1CH 1,000
—pc2l 100,0002 * 18CH * 20/100 360
—JIEHEHI 2 50,0002 * 128 600
OJIEt AR EZH 5,0008 * 18% * 12% 1,080

202 01| 69,480 69,480

01 2UHoit 69,480 69,480
OAMELSE AREX 0| 69,480
—2LHOIHI 20,0008 * 122 * 18% * 12 51,840
— 22|01 70,0002 * 142  18% 17,640

203 YREXH| 4,200 4,200

04 RNSHYRETY| 4,200 4,200
ORASYALRETY| 350,0008! * 12 4,200

204 HRL#A| 1,200 1,200

01 MBI AR AY| 1,200 1,200

ONMIULLHAY| (AR BLESIER)

100,0002 * 1% = 129 1,200
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